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Multi-Step Inequalities

Solve and graph the solution set for the following problems,

1: Ox+4<3x—14 2: -2Ax-4)-3x<23
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Practice: Solve and graph the solution set for the following problems

1. Sx+3<2x+15 2. 23+3g)>2g+14

30|Page




Solve the following problems

5 2A3h-2)<4b+8

4, Ily-2<3y+14
5. 3g+6<-5(g+2) 6. 1<8+b
7. —4x—4<8 8. 5—9¢>-13
9. A high school class is planning its annual hayride. There is a flat fee of 550

plus $30 per hour to hire the hay wagon, The class has a budget of $280 for
the hayride. -

Part A: Writean inequality Yo find h, the number of hours they can hire the
hay wagon ang ;;;in budget.

50+ 30h £ 280

Part B: Solve the ineguality.
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Solving and Graphing
Compound
Inequalities

Graph the following compound inequalities and then write the
solution in interval notation
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